2 st

1 st

2 st

8 st

1 st

621-009 Gavel med cylinder

Varmforzinkat
75 kg

621-003-1 Mittbage enkel
Varmfozinkad
21 kg

12329 FZB Stal ror 50x30x2

Varmforzinkat L=6000
2,4 kg/m

621-201 Stal ror 60x60x2
Varmforzinkat L=6000
3,7 kg/m

621-314 Skruv sats
2 st M8 Lasmutter

2 st M8 Bricka

18 st M10 Lasmutter
36 st M10 Bricka

2 st Forankringsoglor
4 st Repklammer

40

4 st M8x20

2 st M8x75

4 st M10x50
12 st M10x75
2 st M10x80

www.fliptop.se
info@fliptop.se



